Sechon 4.5 L'Hopital’ & Rule

Learning Goals

Learning Goal

Homework Problems

4.5.1 Decide whether L'Hopital's Rule can be used to evaluate a limit.
Apply the rule when appropriate and decide how many times to apply
it.

1-77, 79-84, 87, 88.

4.5.2 Identify and classify indeterminate forms. Use limit laws and
algebraic manipulations, including logarithms, to make an
indeterminate limit suitable for evaluation by L'Hdpital's Rule.

25, 26, 37-42, 46,
51-66, 77, 81, 82,
84-87a, 88.

4.5.3 Answer conceptual questions involving L'Hopital's Rule.

75-79, 81, 82.
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